Software Verification
System Test Report
[Team A7] 1

Team 5

201511243 .35
201511246 4+
201511262
201711356

40 o>o
™Y X re

T
>



Index

1. Specification Review

2. Category-partitioning Testing Report

A. Categorize & Representitive classes of values
B. File for TSL Generator

C. Test Result

3. Pairwise Testing Report
A. File for PICT

B. Test Case & Result

4. Brute Force Testing Report
A. Test Case

B. Test Result

5. Static Analysis

A. Quality Profile(Rules)

B. Quality Gates(Based on Jacoco, Junit)

C. Static Analysis Result



1. Specification Review

A, 1% Cycle oM HIAISH LHEO| ChSH £ 21340 O|20i2|2| Qfot 0|} Y

2. Category-partitioning Testing Report

A. Categorize & Representitive classes of values

0o

Group Category Value Description
Timekeeping A7 REQI ALEY
Worldtime MIAAZE 2E91 Al
Alarm AUt BEOl HEY
Mode Mode
Timer EIO|0 2EQ1 el
Stopwatch AERIZ| DEOI AEY
Cycletimer FI|ge DEQl Al
Default 7|2 BEQI Al
Config Config
Set 4 BEQI HEY
Equals 4 ESHEl BEQ| 4Tt 47191 Alef
Function Count Function Count Under 4 Sl REO| JH4Tt 47 D|EQI AMEY
Over 4 SMotEl BEO| 4Tt 471 =1pQl AEY
Running BEQ| J7|50| 23Sl AE
State State
Not running 2E9| 7|50| 2E5S0(2] 42 AEH
Running HZ7t 22|l= ol
Buzzer State Buzzer State
Not running B2t S2|R| et= AMEY
No input E 20| gl= HEY

Adjust input

Mode input Mode HEO| A=l Al
Input Button Input Button Reset input Reset HHEO| Y= ArEY
Start/Stop
Start/Stop HE0| U= HEH
input
Multiple input | {27 HHEO| SA|0] L= AEH
Selected A[ZHCHZt MEHEl AfEY
City
Not selected AZHCHZ MEd 2| 2] eh2 AR
In range 2 20| 1~12 AtO|Ql AfEH
Values Month Under 1 2 20| 1ELC} 22 AEf
Over 12 2 Zfo| 122CH 2 AEf
In range Q Zro| 1~0OpR|9t Y
Day
Under 1 QU 2f0| 1ELC} 22 AEf




Over last day Y Zr0| & B Opr|9f Ut Ef
In range A2t 2E0] 0~23 ALO[QI AfEf
Hour Under 0 A2k 2r0] OECt 22 el
Over 23 AIZH 210 Max&Ct 2 AfEf
In range £ 20| 0~59 AO|Q1 AfER
Minute Under 0 & 20| OECH 22 AEf
Over 59 & 20| 5oECt 2 AEy
In range 2 0] 0~59 AtO|QI AEH
Second Under 0 2 10| OECH 22 MEf
Over 59 & 740] 5oL}t 2 AE)

B. File for TSL Generator

Mode:
Timekeeping.
Worldtime.
Alarm.
Timer.
Stopwatch.
Cycletimer.

Config Mode:
Default.
Set.

Function Count:
Equals 4.
Under 4.
Over 4.

State:
running.
not running.

Buzzer State:
Running buzzer.

Not running buzzer.

Input Button:
No input.
Adjust input.
Mode input.
Reset input.
Start/Stop input.
Multiple input.

Values:
City:
selected.
not selected.

Month:
in range.
under 1.
over 12.

Day:
in range.
under 1.
over last day.

Hour:
in range.
under 0.
over 23.

Minute:
in range.
under 0.
over 59.

Second:
in range.
under 9.
over 59.

C. TestResult

[property Timekeeping]
[property Worldtime]
[property Alarm]
[property Timer]
[property Stopwatch]
[property Cycletimer]

[if !Stopwatch]

[error]
[error]

[if !Timekeeping && !Worldtime]

[error]

[if Worldtime]
[if Worldtime] [error]

[if !Timer &% !Stopwatch && !Cycletimer]
[error]
[error]

[if !Timer && !Stopwatch &% !Cycletimer]
[error]
[error]

[error]
[error]

[error]
[error]

[if !Alarm]
[error]
[error]




Canfig

Function Count

1 Default Equals 4 Inrange  Inrange Inrange Inrange In range

2 | Default  Equals 4 Running  Adjustinput | <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL 447} 474 Z0|D2 FAL

3 k Default  Equals 4 Running Modeinput  <n/a>  Inrange Inrange Inrange Inrange Inrange FAIL  Eelti §l SE9| 7|47} 47§ £30|S2 FAL
4 Timekeeping Defoult Equals 4 Running Resetinput  <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL W8 & ©Co| 7447} 474 £30[22 FAL

5 Timekeeping Default  Fquals 4 Running StarStop input  <n/a>  Inrange Inrange Inrange Inrange Inrange  FAILL W%} © BEO 757} 47) ZI0|SE FAIL

6 ekeeping Default  Equals 4 Not running No input «nfa> Inrange Inrange Inrange Inrange Inrange  FAIL Bz} § DCo| 47} 47§ EI0[SE FAL

7

Timekeeping Default Equals 4 Running Nat running Adjust input  <nfa>  Inrange Inrange Inrange Inrange Inrange  FAL &% § DEo| 743} 47§ XI0|SE FAL

8 Default  Equals 4 Running Not running Mode input  <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL  W&i% B DE9| 7|47} 47§ £30|SE FAL
9 Timekeeping Defoult  Equals 4 Running Not running Reset i <nfa>  Inrange Inrange Inrange Inrange Inrange  FAIL B9t El BEo| 47} 470 £H0[02 FAIL
10 Timekeeping Defaul  Equals 4 Running Notrunning  Start/Stop input  <nfa>  Inrange Inrange Inrange Inrange Inrange  FAIL  E83} © BEo) Jj%7} 47) ZA0|SE FAIL

1 i ing  Set Equals 4 Running Running No input <nja>  Inrange Inrange Inrange Inrange Inrange  FAL  E%i § BES| F47} A7) EI0DE FAL

12 Timekeeping  Set Equals 4 Runnin Runnin Adjust input  <nfa>  Inrange Inrange Inrange In range In ran FAL %% B REo| 747t 474 £0|S2 FAL
13 Timekeeping  Set Equals 4 Running Running Mode input <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL W% B D2 757t 47) 20|22 FAIL

14 Timekeeping  Set Equals 4 Running Running Reset input <nfa> Inrange Inrange Inrange Inrange Inrange  FAIL W% & 2o 4ot 42 E30|22 FAIL
15 Timekeeping  Set Equals 4 Running Running Star/Stop input  <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL W%} € BEO 75| 47) ZA0|SE FAIL
16 i i Set Equals 4 Running Not running No input <nfa> Inrange Inrange Inrange Inrange Inrange  FAIL 3t Bl BE 2| 7|47} 474 ET0|SF FAIL
17 Timekeeping  Set Equals 4 Running Not running Adjust input <nfa>__ Inrange Inrange Inrange Inrange Inrange  FAIL g8t © 22| F|$7} 470 0|22 FAIL |
18 Timekeepi Set Equals 4 Running Not running Mode input <n/a>  Inrange  Inrange Inrange Inrange Inrange  FAIL 58 8 BED) 757} 47) 20|22 FAIL
19 Timekeeping  Set Equals 4 Running Not running Resetinput  <n/a»  Inrange Inrange Inrange Inrange Inrange  FAIL  B4Sh € BEO] 747} 474 40|08 FAIL |
20 Timekeeping  Set Equals 4 Running Not running  Start/Stop input  <n/a>  Inrange Inrange Inrange Inrange Inrange  FAIL  E8St 8 RC0) 2440} 470 ZI0|22 FAIL
21 Worldtime  Default Equals 4 Running Running No input Selected Inrange Inrange Inrange Inrange Inrange  FAIL B 3#0| 5% YoM HAE ¥Ils
22 Worldtime  Default Equals 4 Running Running Adjust input  Selected  Inrange  Inrange Inrange Inrange Inrange  FAIL D 30| TX] HotM HAE Bits

3 Worldtime Default  Equals 4 Running Running Mode input  Selected Inrange Inrange Inrange Inrange Inrange  FAIL BE Jw0| 5% @Ot HAE Els |
24 Worldtime  Default Equals 4 Running Running Reset input | Selected  Inrange Inrange Inrange Inrange Inrange  FAIL BE FHO| £|X] YOLM EHAE #ihs

25 ‘Worldtime  Default Equals 4 Running Running Start/Stop input  Selected Inrange  Inrange Inrange Inrange Inrange  FAIL DL 7#0| 5% YOt BAE BIls

26 Worldtime  Default Equals 4 Running Not running No input Selected Inrange Inrange Inrange Inrange Inrange  FAIL BE F#0| 5% QO HAE ¥7ls

27 Worldtime Default Equals 4 Running Not running Adjust input Selected Inrange  Inrange  Inrange Inrange Inrange  FAIL 2c JHo| 5| BotM HAS ¥its |
28 Worldtime ~ Default Equals 4 Running Not running Mode input  Selected  Inrange  Inrange  Inrange In range In range  FAIL BE 70| £ QO HAE Ehs

29 Worldtime  Default Equals 4 Running Not running Reset input  Selected Inrange Inrange Inrange Inrange Inrange  FAIL BC 3HO| X QOM EJAE @IE
30 Worldtime Default Equals 4 Running Not running  Start/Stop input _ Selected Inrange  Inrange Inrange Inrange Inrange  FAIL BC F¥0| &% Y0t HAE #Its

31 Worldtime  Set Equals 4 Running Running No input Selected Inrange  Inrange Inrange Inrange Inrange  FAIL SE 80| 7| YOLM HAE ¥Its |
32 Worldtime Set Equals 4 Running Running Adjust input  Selected  Inrange  Inrange  Inrange Inrange Inrange  FAIL DE F#0| 5X| fojM HAE Bits

3 Worldtime  Set Equals 4 Running Running Mode input Selected  Inrange  Inrange  Inrange Inrange Inrange  FAIL BE Fw0| 5% QO HAE EI}s |
34 Worldtime  Set Equals 4 Running Running Reset input  Selected Inrange Inrange Inrange Inrange Inrange  FAIL EE 3HO| £ @otM HAE Eits

35 Worldtime  Set Equals 4 Running Running Start/Stop input  Selected Inrange  Inrange Inrange Inrange Inrange  FAIL 2E FH0| 5| Yot HAE #its

36 Worldtime  Set Equals 4 Running Not running No input Selected  Inrange  Inrange Inrange Inrange Inrange  FAIL BE F%0| 5% HOHM HAE ¥7ls

37 Worldtime  Set Equals 4 Running Not running Adjust input  Selected Inrange  Inrange Inrange Inrange Inrange  FAIL BE FHO| S| HOHM HAE §ihe |
38 Worldtime  Set Equals 4 Running Not running Mode input  Selected  Inrange  Inrange  Inrange Inrange Inrange  FAIL BE F¥O0| §X QOMM HAE @I}s

39 Worldtime  Set Equals 4 Running Not running Resetinput  Selected Inrange Inrange Inrange Inrange Inrange  FAIL D PHO| 57| MO HAE EIls
40 Worldtime Set Equals 4 Running Not running Start/Stop input  Selected  Inrange  Inrange  Inrange Inrange Inrange  FAIL D 30| 5% Yot HAE it

a Alarm  Default Equals 4 Running Running No input <nfa>  Inrange Inrange Inrange Inrange <nfa>  FAIL W& E RE9| %7} 47) ZJH0|DE FAIL
42 Alarm Default Equals 4 Running Running Adjust input <nfa= Inrange Inrange Inrange Inrange  <nfax FAL W43t &l @20 J57} 47§ =70]8 2 FAIL
43 Detaul: Equals 4 Running Runining Mode input <nfa>  Inrange Inrange Inrange Inrange <nfa>  FAIL B3t & BEO| 7|27} 4%) TS FAL
44 Marm Default Equals 4 Running Running Reset input <nfa> Inrange Inrange Inrange Inrange <nfar  FAIL  Ea%} § BE2)| 747} 470 £J0|EE FAL
45 Alarm  Default  Equals 4 Running Running Start/Stop input  <nfa>  Inrange Inrange Inrange Inrange <nfa>  FAIL @Sl © 220| 7H47t 470 30|22 FAL |
46 Alarm  Default Equals 4 Running Not running No input <n/a>  Inrange Inrange Inrange Inrange  <nfa>  FAIL %8S 8 D0 747} 47) 20|28 FAIL
47 Alarm Default Equals 4 Running Not running Adjust input <nfa=  Inrange Inrange Inrange Inrange  <nfas FAIL  EHdst & B9 7447} 47) 30|22 FAIL ‘
48 Alarm  Default  Equals 4 Running Nt running Mode input <n/a> Inrange Inrange Inrange Inrange <n/a>  FAIL W% 8 2C0) J47) 470 TI0|2E FAL
43 Alarm Default Equals 4 Running Nat running Reset input <n/a>  Inrange Inrange Inrange Inrange <nfax  FALL %) B D2 7457t 47) 20|22 FAIL
50 Alarm  Default Equals 4 Running Not running  Start/Stop input__ <n/a>  Inrange  Inrange In range In ran <nfa> | FAIL B3 € DEO| 747} 474 ZH0|D2 FAIL
51 Alsrm  Defaukt Equals 4 Not running Running No input <n/a>  Inrange  Inrange Inrange Inrange  <n/a>  FAIL WS} © DES| 7%7) 47) ZIH0|SE FAIL
52 Alarm  Default  fquals4 Mot running Running Adjust input | «n/a>  Inrange Intange Inrange Inrange <n/a> | FAIL  Best © BCo) 7j47t 47 £3H0|S2 FAL
53 Alarm  Default Equals 4 Not running Running Mode input <n/a>  Inrange Inrange Inrange Inrange <nfa>  FAILL B39 B B0 J§57t 47 ZH0|SE FAIL |
54 Alarm  Default Equals 4 Not running Running Reset input <nfa> Inrange Inrange Inrange Inrange <nfa>  FAIL RS E B2 747t 470 J0|E2 FAIL
55 Alarm  Default Equals 4 Not running Running Start/Stop input  <nfa>  Inrange Inrange Inrange Inrange <nfa>  FAIL @Sl & 20| 745} 470 30|92 FAIL |
56 Alsrm  Default Equals 4 Not running  Not running No input <n/a> Inrange Inrange Inrange Inrange <n/a>  FAIL &S & R0 747} 47) 20|22 FAIL
57 Alarm  Default Fquals4 Mot running  Not running Adjust input  <nfa>  Inrange Inrange Inrange Inrange <n/a>  FAL  E4si © DEo| 747} 47 EM0|ISE FAL |
58 Alarm  Default Equals 4 Not running  Not running Mode input <nfa> | Inrange Inrange Inrange Inrange <nfa> | FAIL %t § 250 747t 470 A0S FAIL
59 Alarm  Default Equals 4 Not running  Not running Reset input <n/a=  Inrange Inrange Inrange Inrange <nfa>  FAIL &St B BE9| 7i%7} 47§ 20|22 FAIL
60 Alarm Default Equals 4 Not running Not running Start/Stop input <n/a> Inrange Inrange Inrange Inrange  <nfas FAIL W3t & 20| 471 47] =340|22 FAIL
61 Alarm Set Equals 4 Running Running No input <n/a>  Inrange Inrange Inrange Inrange  <n/a> FAL WS € REO| J47 4] £340|28 FALL |
62 Alarm Set Equals 4 Running Running Adjustinput  <n/a>  Inrange Inrange Inrange Inrange <n/a>  FAIL RS} B DE0| 747} 47) XI0|SR FAIL
63 Set Equals 4 Running Running Mode input <n/a>  Inrange Inrange Inrange Inrange  <n/ax UL § RE2| et 47) AT0|2R FAIL |
64 Alarm Set Equals 4 Running Running Reset input </a> Inrange Inrange Inrange Inrange <n/ax  FAIL W48 B R50| 747t 47§ A0|2R FAIL
65 Alarm Set Equals 4 Running Running Start/Stop input  <n/a>  Inrange Inrange Inrange Inrange  <n/a> FAIL WS § RE09| 2$7} 470 X240|22 FAIL ‘
66 Alarm Set Equals 4 Running Not running No input «a> | Inrange Inrange Inrange Inrange <nfa> _ FAIL W2} & RES| 47} 47) A0|SE FAL
67 Marm Set Equals 4 Running Not running Adjustinput  «n/a>  Inrange Inrange Inrange Inrange <n/a>  FAL WIS} B REO| 47} 470 A0SR FAL |
68 Alarm Set Equals 4 Running Not running Mode input <n/a>  Inrange Inrange Inrange Inrange <nfa>  FAIL W8 B RE2| 42} 474 A0SR FAIL
69 Alarm Set Equals 4 Running Not running Reset input <«n/a>  Inrange Inrange Inrange Inrange <n/a> FAL W8 8 50| 2471 47) XJ40|2% FAIL ‘
70 Alarm Set Equals 4 Running Not running  Start/Stop input <n/a>  Inrange Inrange In range Inrange  <n/a>  FAIL WS § RE0| Z47} 470 X028 FAIL
n Alarm Set Equals 4 Notrunaing  Running No input </a>  Intange Inrange Inrange Inrange <n/ar  FAL WS} § RE0| )47} 47) A0SR FAL |
72 Alarm Set Equals 4 Not running Running Adjust input </a> Inrange Inrange Inrange Inrange <n/a>  FAIL R8I B RE0| 47t 474 AJ}O|SR FAL
£ Alarm Set Equals 4 Not running Running Mode input <n/a>  Inrange Inrange Inrange Inrange  <n/a> FAL B8l B RE9| 47} 47) A340|2 FAL |
74 Alarm Set Equals 4 Not running Running Reset input <n/a> Inrange Inrange Inrange Inrange <n/a>  FAIL W2} € REO| 40} 47) XN0|S2 FAIL
75 Alarm Set Equals 4 Not running Running Start/Stop input  «n/a>  Inrange  Inrange Inrange Inrange  <n/ax FAIL W88 RE9| 42} 47§ 20|28 FAL |
76 Alarm Set Equals 4 Not running  Not running No input <n/a> Inrange Inrange Inrange Inrange <n/a>  FAL B9 B REO| 247} 474 A0|SR FAIL
ki Alarm Set Equals 4 Not runaing  Not running Adjust input <n/a>  Inrange Inrange Inrange Inrange  <n/ax FAL RSB 29| /|47 47) 2340|128 FAL |
78 Alarm Set Equals 4 Not running  Not running Mode input <v/a> Inrange Inrange Inrange Inrange <n/a>  FAIL WS B REO| 47} 47 X30|28 FAIL
” Alarm Set fquals 4 Not running  Not running Reset input <n/a>  Inrange Inrange Inrange Inrange  <n/a> FAIL WS © RED| 47 47) £30|28 FAIL |
80 Aarm  Set Equals 4 Notrunning  Notrumning  Start/Stop input  <n/a> Inrange Inrange Inrange Inrange <n/a>  FAL W%} § SE0| 747} 47} 23028 FAL
8 Timer  Default  Equals 4 Running Running No input /o> /o> <nfe>  Intange Inrange Inrange  FAIL W8 B REO| J47} 47} AT0ISE FAL
8 Timer  Default Equals 4 Running Running Adjustinput  <n/a>  <n/a>  <nfo>  Inrange Inrange Inrange  FAIL WS B RE0| J$7} 475 A3H0|28 FAL
83 Timer Default Equals 4 Running Running Mode input <n/a» <n/ar «v/a> Inrange Inrange Inrange  FAIL WS 8 Q0| Jj47} 47§ X30|28 FAL |
84 Timer  Default Equals 4 Running Running Reset input </a>  <nfo>  <n/a>  Inrange Inrange Inrange  FAIL WS} 8 8E0| )47} 47§ XI0|SR FAL
85 Timer  Default Equals 4 Running Running Start/Stop Input  <n/a> <n/a> <n/a>  Inrange Inrange Inrange  FAL B8} E REQ| 742t 47) A0SR FAIL |
8 Timer  Default Equals 4 Running Not running No input <n/a>  </a>  <n/a>  Inrange Inrange Inrange  FAIL W8} B RE0| 747} 470 A0|2E FAIL
87 Timer Default Equals 4 Running Not running Adjust input <n/a> <n/a> <n/a>  Inrange Inrange Inrange  FAIL W% € REO| 47} 47§ X2H0|2R FAIL \
88 Timer  Default Equals 4 Running Not running Mode input  <n/a>  <n/a>  </a>  Inrange Inrange Inrange  FAIL WS} § DE0| 7} 47§ XI0|S2 FAL
89 Timer  Default  Equals 4 Running  Not running Resetinput  <n/a»  <va>  <n/a»  Inrange Inrange Inrange  FAL W% § SE9| 47} 4] 3008 FAL |
90 Timer  Default  Equals 4 Running Not running  Start/Stop input <> <n/a>  <n/a>  Inrange Inrange Inrange  FAIL B8 B R59| 247t 47§ AT0|2R FAL
91 Timer Default Equals 4 Not running Running No input <n/a> <n/a> <n/a>  Inrange Inrange Inrange  FAIL WS 8 REO| 247} 470 A3f0|2& FAIL ‘
92 Timer Default Equals 4 Not running Running Adjust input <n/a> <n/a> <n/a> Inrange Inrange Inrange  FAIL WS 8 RE0| J47} 470 0|22 FAIL
93 Timer  Default  Equald  Notrunning  Running Modeinput  <n/a»  <n/a»  <n/ax  Intange Inrange Inrange  FAL WS 8 REO| 247} 47} 20|22 FAL |
a4 Timer  Default  Equais4  Not running  Running Resetinput  <Va»  <Va»  <n/a> Inrange Inrange Inrange ~ FAIL W% 8 Q50| 7447t 471 AT02E FAL
%5 Timer  Default  Equals4  Not Running  Start/Stop input  <n/a>  <n/a>  <nfa>  Inrange intange Inrange  FAL W8} B 59| 247t 47 A30|28 FAL |
96 Timer  Default Equals 4 Notrunning  Not running No input «a>  <nfa>  «/a>  Inrange Inrange Inrange  FAIL W8} 8 C0| 47} 474 £340|S2 FAL
97 Timer Default Equals 4 Not running  Not running Adjust input <n/ar <n/a> <n/a>  Inrange Inrange Inrange  FAIL  WHR} 8 REO| 4} 4% XI0|SR FAIL ‘
98 Timer  Default Equals 4 Not running  Not running Mode input  <n/a»  <n/a>  </a> Inrange Inrange Inrange  FAIL RS E 80| 57} 474 20|22 FAL
9 Timer Default Equals 4 Not running  Not running Reset input <n/a> <n/a> <n/a>  Inrange Inrange Inrange  FAIL B8 B RES| 257t 470 20|28 FAIL \
100 Timer  Default Equals 4 Not running  Not running  Start/Stop input  <n/a>  <n/a> <v/a> Inrange Inrange Inrange  FAIL W% & 20| 47} 474 A340|22 FAIL
101 Timer Set Equals 4 Running Running No input <n/ar <n/a» <v/a>  Inrange inrange Inrange  FAIL WS § RE9| J47} 47 ZI0|S 2 FAIL |
102 Timer Set Equals 4 Running Running Adjustinput  <r/a»  <n/a>  <n/a>  Inrange Inrange Inrange  FAIL B8 € SC0| H4} 474 XI0|S2 FAL
103 Timer Set Equals 4 Running Running Mode input  <va»  </a>  <n/ax  Inrange Inrange Inrange  FAIL B8 B Q50| 24} 470 ATf0|2& FAL |
104 Timer Set Equals 4 Running Running Reset input <a>  </a>  <n/a>  Inrange Inrange Inrange  FAIL W8} B RE0| 747} 470 A0|2A FAIL
105 Timer Set Equals 4 Running Running Start/Stop input  <n/ax <n/ax <n/a>  Inrange Inrange Inrange  FAIL M%) § REQ| 47} 47) X302 FAIL |
106 Timer Set Equals 4 Running Not running No input «/a» | <v/a»  <nva> Inrange Inrange Inrange  FAIL M%) 8 SE0| 47} A7) XS FAL
107 Timer Set Equals 4 Runni Not running Adjust input <n/a> <n/a> <n/a>  Inrange Inrange Inrange  FAL B8} RE9| 747} 47) A0SR FAIL |
108 Timer Set Equals 4 Running Not running Mode input  <n/a>  <nfa>  </a>  Inrange Inrange Inrange  FAIL RS E RE9| 47} 47§ AJ0|2R FAL
109 Timer Set Equals 4 Running Not running Reset input <n/a> <n/ax <v/o> Inrange Inrange Inrange  FAIL W8} § RE09| J47} 47§ X340|2& FAL |
110 Timer Set Equals 4 Running Not running  Start/Stop input <n/a>  <n/a>  <n/a>  Inrange Inrange Inrange  FAIL W%} 8 RE0)| 47} 47§ 30|22 FAIL
m Timer Set fquals 4 Not running Running No input <va>  <n/a>  <n/a>  Inrange Inrange Inrange  FAIL WS} € REO| 47} 47| XWO|2R FAL |
12 Timer Set Equals 4 Not running Running Adjust input <n/a> <n/a> <n/a> Inrange Inrange Inrange  FAIL W8 E RES| H$7} 474 A0SR FAIL
113 Timer Set Equals4  Not running Running Mode input <o <n/ax <a>  Inrange Inrange Inrange  FAL B8 E RE9| 747} 47) A30|22 FAL |
114 Timer Set Equals4  Not running Running Reset input «Va>  <n/a> <> Inrange Inrange Inrange | FAIL W% 8 29| 4t 47 X40[S2 FAL
15 Timer Set fquals 4 Not running Running Start/Stop Input <> <n/ax <n/a>  Inrange Inrange Inrange  FAL  WHRt € REO| 24} 4% AOIOR FAL
116 Timer Set Equals 4 Not running  Not running No input <a>  <nfax </a>  Inrange Inrange Inrange  FAIL W8} § 950 |47} 474 AJ}0|S R FAL
"7 Timer Set Equals 4 Notrunaing  Not running Adjustinput  <n/a>  <n/a>  <n/a>  Inrange Inrange Inrange  FAL W8} B 50| 447} 474 A3t0|SR FAL |
18 Timer Set Equals4  Not running Nt running Mode input  <n/a>  <«n/a>  <nfa> Inrange Intonge Inrange  FAIL WS B 29| |47} 474 230|122 FAL
119 Timer Set Equals 4 Not running  Not running Reset input <n/a> n/a» <v/a>  Intange Inrange Inrange  FAIL WS} E REO| 57} 47§ ZI0|DR FAL |
120 Timer Set Equals 4 Notrunning  Not running  Start/Stop input __ <n/a» __ <n/a> <n/a>__Inrange Inrange Inrange  FAIL B8l § 80| 2§47} 474 £I0|S R FAIL




121 Stopwatch  Default
122 Stopwatch  Default
123 Stopwatch  Default
124 Stopwatch  Default
125 Stopwatch  Default
126 Stopwatch  Default
127 Stopwatch  Default
128 Stopwatch  Default
129 Stopwatch  Default
130 Stopwatch  Default
131 Stopwatch  Default
132 Stopwatch  Default
133 Stopwatch  Default
134 Stopwatch  Default
135 Stopwatch  Default
136 Stopwatch  Default
137 Stopwatch  Default
138 Stopwatch  Default
139 Stopwatch  Default
140 Stopwatch  Default
141 Cycletimer  Default
142 Cycletimer  Default
143 Cycletimer  Default
144 Cycletimer  Default
145 Cycletimer _Default
146 Cycletimer Default
147 Cycletimer  Default
148 Cycletimer  Default
149 Cycletimer  Default
150 Cycletimer  Default
151 Cycletimer  Default
152 Cycletimer Default
153 Cycletimer  Default
154 Cycletimer Default
155 Cycletimer  Default
156 Cycletimer  Default
157 Cycletimer  Default
158 Cycletimer  Default
159 Cycletimer  Default
160 Cycletimer Default
161 Cycletimer  Set

162 Cycletimer  Set

163 Cycletimer Set

164 Cycletimer  Set

165 Cycletimer  Set

166 Cycletimer  Set

167 Cycletimer  Set

168 Cycletimer  Set

169 Cycletimer  Set

170 Cycletimer Set

m Cycletimer Set

172 Cycletimer  Set
173 Cycletimer Set
174 Cycletimer  Set
175 Cycletimer  Set
176 Cycletimer  Set
177 Cycletimer  Set
178 Cycletimer Set
179 Cycletimer Set
180 Cycletimer  Set

Test Results
Total : 180
Pass : 0

Fail : 180

Rate : 0/180 = 0%

Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4
Equals 4

Running Running No input <wa>  <nfe>  <nfe>  Inrenge Inrange In range
Running Running Adjust input <nfa> | <nfas <n/a> _Inrange Inrange In range
Running Running Mode input <war  <nfax <nfa> _ Inrange Inrange In range
Running Running Reset input <nfa> | <njax <nfa>__Inrange Inrange In range
Running Running Start/Stop input <n/ar  <n/ax <nfa>  Inrange Inrange In range
Running Not running No input <vjar | <njax <nfa>  Inrange Inrange In range
Running Nat running Adjust input <nfa=  <nja> <nfa>  Inrange Inrange In range
Running Not running Mode input efar | <njam <n/a> Inrange Inrange In range
Running Not running Reset input <n/a>  <nfa> <n/a> _ Inrange Inrange In range
Running Not running <nwja> | <nfa> <nfa> Inrange Inrange In range
Not running Running <nfa>  <n/a> <nfa> _Inrange Inrange In range
Not running Running <war | <nfax <nfa> _Inrange Inrange In range
Not running Running <nfas  <njax <nfa> _ Inrange Inrange In range
Not running Runining Reset input <na- | <n/as <nfa>  Inrange Inrange In range
Not running Running Start/Stop input  <nfa> <nfa> <nfa>  Inrange Inrange In range
Not running  Not running No input <n/a>  <nfa> <n/a>  Inrange Inrange In range
Not running  Not running Adjust input <nfar  <nfa> <nfa>  Inrange Inrange In range
Not running  Not running Mode input <nfa> | <n/a> <nfa> _Inrange Inrange In range
Not running  Not running Reset input <njar  <nfa> <nfa>  Inrange Inrange In range
Not running Mot running  Start/Stop input _ <nfa>  <n/ax <nfa>___Inrange In range In range
Running Running No input <nfa>  <nja> <nfa>  Inrange Inrange In range
Running Running Adjust input <n/a> <nfaz =n/a> In range In range  In range
Running Running Mode input <n/a= <nfa> <n/a>  Inrange Inrange In range
Running Running Reset input <nfar | <nfa> <nfa> Inrange Inrange In range
Running Running Start/Stop input _ <n/a>  <n/a> <nfa> _Inrange Inrange In range
Running Not running No input <nfa> | <nfa> <nfa» Inrange Inrange In range
Running Not running Adjust input <vja>  <n/a> <nfa> _Inrange Inrange In range
Running Not running Mode input <nfa> | <nfax <nfa> Inrange Inrange In range
Running Not running Reset input <nfar  <nja> <nfa>  Inrange Inrange In range
Running Not running  Start/Stop input  <n/a=  <n/a> <n/a>  Inrange Inrange In range
Not running Running No input <nfax <nfa> <nfa>  Inrange Inrange In range
Not running Running Adjust input <nfa> | <nfa> <n/a> Inrange Inrange In range
Not running Running Mode input <wjar  <nfa> <nfa> _ Inrange Inrange In range
Not running Running Reset input <nfa> | <nja> <nfa>__Inrange Inrange In range
Not running Running Start/Stop input  <n/a»  <n/ax <nfa> _ Inrange Inrange In range
Not running  Not running No input <vja> | <njax <nfa>___Inrange In range In range
Not running  Not running Adjust input <nfa>  <nja> <nfa>  Inrange Inrange In range
Not running  Not running Mode input <nvfar | <nfas <n/a> Inrange Inrange In range
Not running  Not running Reset input <n/a> <n/a> <n/a>  Inrange Inrange In range
Not running Mot running  Start/Stop input <nfa»  <n/a» <nfa> Inrange Inrange In range
Running Running No input <ja>  <nfa> <nfa> _Inrange Inrange In range
Running Running Adjust input <nja> | <nfa> <nfa> o range Inrange In range
Running Running Mode input <nfas  <nfax <nfa> __Inrange Inrange In range
Running Runining Reset input <va- | <n/as <nfa> Inrange Inrange In range
Running Running Start/Stop input  <nfa> <nfa> «n/a>  Inrange Inrange In range
Running Not running No input <n/a>  <nfa> <n/a>  Inrange Inrange In range
Running Not running Adjust input <nfa>  <nfa> <nfa>  Inrange Inrange In range
Running Not running Mode input <nfa> | <n/a> <nfa> _Inrange Inrange In range
Running Not running Reset input <njar  <nfax <nfa> _Inrange Inrange In range
Running Not running  Start/Stop input _ <n/a>  <n/ax <nfa>___Inrange In range In range
Not running Running No input <nfa>  <nja> <nfa>  Inrange Inrange In range
Not running Running Adjust input <nfax <n/ax <n/a>___Inrange  Inrange In range
Not running Running Mode input <n/a= <nfa> <n/a>  Inrange Inrange In range
Not running Running Reset input <nfar | <nfa> <nfa>  Inrange Inrange In range
Not running Running Start/Stop input _ <n/a>  <n/a> <nfa> _ Inrange Inrange In range
Not running  Not running No input <nfa> | <nfa> <nfa> Inrange Inrange In range
Not running  Not running Adjust input <nja>  <njax <nfa> __Inrange Inrange In range
Not running  Not running Mode input <nfa> | <nfax <nfa> Inrange Inrange In range
Not running  Not running Reset input <nfar  <nja> <nfa>  Inrange Inrange In range
Not running  Notrunning  Start/Stop input  <n/a» | <n/a> <n/a>  Inrange Inrange In range

3. Pairwise Testing Report

A

File for PICT

Mode: TimeKeeping, Alarm, Timer, Stopwatch, Werldtime, Cycletimer
Config: Set, Default

FunctionCount: Equalsd

State: Running, NotRunning

Buzzer: Running, NotRunning

Input: Mo, Adjust, Mode, Reset, StartStop
City: valid, NotUse

Month: valid, MotUse

Day: valid, MNotUse

Hour: valid, MotlUse

Min: wvalid, NotUse

Sec: valld, NotUse

IF [Mode] in {"Stopwatch™} THEN [Config] = "Default";

IF [Mode] in {"TimeKeeping", "Worldtime"} THEMN [State] = "Running";

IF [Mode] in {"Worldtime"} THEN [City] = "valid";
IF NOT ([Mode] in {"Worldtime"}) THEN [City] = "NotUse";

IF NOT {[Mode] in {"Timer", "Stopwatch", "Cycletimer"} )} THEN [Month] = “valid";
IF [Mode] in {"Timer", "Stopwatch", "Cycletimer"} THEM [Month] = "NotUse";

IF NOT {[Mode] in {"Timer", “"Stopwatch”, "Cycletimer™} )} THEN [Day] = "wvalid";
IF [Mode] in {"Timer", "Stopwatch”, "Cycletimer®} THEM [Day] = "NotUse";

[Hour] = "walid";
[Min] =

"yalid";

IF NOT {[Mode] in {"Alarm"}) THEN [Sec] = "valid";
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FAIL

FAIL

FAIL
FAIL
FAIL

FAIL
FAIL
FAIL

FAIL

FAIL

FAIL

FAIL
FAIL
FAIL
FAIL
FAIL
FAIL

FAIL

FAIL

FAIL

FAIL
FAIL
FAIL

FAIL

FAIL

FAIL
FAIL

FAIL
FAIL
FAIL
FAIL

FAIL

FAIL

FAIL

FAIL
FAIL
FAIL
FAIL

FAIL

FAIL

FAIL

FAIL

FAIL

FAIL
FAIL
FAIL
FAIL

FAIL

FAIL

FAIL

FAIL
FAIL
FAIL

FAIL

FAIL

FAIL
FAIL
FAIL

FAIL

st © 9| J47} 47 20|22 FAIL
Tz 8 RS9l 27t 47) £240|22 FAL |
Tt @ SS9 747} 474 ZT0|DE FAL
F9% B 20| STt 474 20|22 FAIL
¥58 © 250 57} 47 20|22 FAL
s 5 @co| 27} 47) XB0|22 FAL
®HE & 99| 57} 47) ZA0|SE FAL
s © 0C0| 47} 47 Z0|22 FAIL
WMo € DCo| Y27} 47) ZDH0|DE FAIL |
Tt © DS0| 47} 47 ETOISS FAL
9l B 2ol ATt 47 ZB0|D2 FAL
48 B D2 57t 471 230|122 FAIL
®@st g 9E0| 71 471 30|02 FAL |
BHE B RCO| A7) 47) Z3H0|DE FAIL
B3t & B9 A7} 47) EI0|DE FAIL
EE5 € RE9| 7} 47 ZA0|D2 FAL |
st § BCo| 47} 474 ZWO|DE FAL
T8 B 200 47t 47 20|22 FAIL
T8 B D52 57} 47 AT0ISE FAL
98 5 20| A+t 474 20|22 FAIL
WHE & D9 757} 47 ZR0|DE FAL |
B3 © BCo| YAt 47 ZaH0|2 2 FAIL
BH5 © BE0| |57} 47 Z0|2E FAIL
4%t © DC0| A7} 47 20|22 FAIL
®45t © 2C0| 27t 47 ZI0|22 FAL |
Tk B DS2| 47} 474 ATOISS FAIL
2l B BCo| A7t 47 Z30|D2 FAIL
THE E Do %7} 47 ZR0|DE FAL
Bgst & 9E0| 71 471 20|02 FAIL |
BEE © BE9| M7} 47) 0|22 FAIL
Bt € 9| J427} 47 30|22 FAIL
Tz 8 BS990t 47) 2240|122 FAL |
T8 § B9 7|47} 474 ZT0|DE FAL
T8t B 2C0| A7t 474 20|22 FAIL
F98 © 259 57t 47 AT0|22 FAL
sl 5 2o 227} 47) AB0|D= FAL
wEE 2 BE9| 27 47 Z20|0E FAIL |
Bis) @ DE0| 42} 47 E0|DE FAIL
WMo © DCo| 27} 47) 0D FAIL |
s © DS 47} 47 ETOISS FAIL
H48t B 200 47t 47 20|22 FAL
EHE B 220 AT 474 23H0|22 FAIL
®@st g 9C0| =71 471 30|02 FAL |
wHE & D9 %7} 47 ZR0|DE FAL
st & BE9| A57} 47) X0|BE FAIL
EE5 € 29| )57} 47 ZA0|D2 FAL |
st § BCo| 4T} 474 WO|DE FAL
F5 B 200 47t 47 20|22 FAL
T8 B D52 57} 47 AT0ISE FAL
9% 5 20| 47t 474 20|22 FAIL
WHE & D9 757} 47 ZR0|DE FAL |
s © BCo| YAt 47 Za0|22 FAIL
B3 © SE0| |57} 47 Z0|2E FAIL
st © BCo| 4T} 47 TA0|DE FAL
®45} © BC0| 27t 47 ZD0|22 FAL |
Tk B S0 47} 47 ATOISS FAL
Y2l B Dol A4t 47 20|02 FAIL
E58 © DE0| 7t 474 ZT0|DE FAIL
Bgst & 90| A7 471 ERH0|O2 FAIL |
B35 € 259 57} 47 ZA0|DE FAIL |



B. Test Case & Result

Test Case Mode Config FunctionCount State Buzzer Input City Month Day Hour Min Sec P/F
1 TimeKeeping Default Equals4 Running Running Mode MNotUse wvalid walid valid valid walid FAIL
2 Stopwatch  Default Equals4 MNotRunning MNotRunning  Reset | MotUse MotUse MNotUse wvalid valid wvalid FAIL
3 Timer Set Equals4 Running Running No NotUse MNotUse NotUse walid valid valid FAIL
4 Cycletimer Set Equals4 MotRunning  Running Reset  NotUse MNotUse NotUse valid valid wvalid FAIL
5 Cycletimer Set Equals4 Running  NotRunning Adjust NotUse NotUse NotUse valid valid valid FAIL
6 Alarm Set Equals4 MNotRunning MNotRunning Adjust MotUse wvalid = valid  valid valid NotUse FAIL
7 Worldtime  Default Equals4 Running  NotRunning StartStop wvalid  wvalid  valid wvalid valid valid FAIL
8 Stopwatch  Default Equals4 Running Running Mode  MotUse MNotUse NotUse valid valid wvalid FAIL
9 Worldtime Set Equals4 Running Running Adjust  valid  valid wvalid valid valid wvalid FAIL
10 Timer Set Equals4 MNotRunning MNotRunning Mode MotUse MotUse MNotUse wvalid valid wvalid FAIL
1 TimeKeeping Default Equals4 Running  NotRunning Adjust NotUse wvalid valid wvalid valid valid FAIL
12 Timer Default Equals4 MotRunning  Running Adjust  NotUse NotUse NotUse valid valid wvalid FAIL
13 Alarm Default Equals4 Running Running  StartStop NotUse wvalid  valid valid valid NotUse FAIL
14 Stopwatch  Default Equals4 MotRunning  NotRunning No MotUse MotUse NotUse walid valid valid FAIL
15 Cycletimer  Default Equals4 Running Running No NotUse MotUse NotUse valid valid valid FAIL
16 Alarm Default Equals4 Running Running Reset  MNotUse wvalid = wvalid valid valid wvalid FAIL
17 Stopwatch  Default Equals4 NotRunning  Running  StartStop MotUse MNotUse NotUse walid valid valid FAIL
18 Worldtime Set Equals4 Running  MNotRunning Mode = valid valid  valid valid valid wvalid FAIL
19 Worldtime  Default Equals4 Running Running No valid  valid  wvalid valid valid wvalid FAIL
20 Cycletimer  Default Equals4 MotRunning NotRunning  Mode  MotUse MNotUse NotUse walid valid valid FAIL
21 Alarm Default Equals4 Running  NotRunning No MotUse wvalid  valid walid valid NotUse FAIL
22 TimeKeeping =~ Set Equals4 Running  MotRunning StartStop MNotUse valid = valid  valid valid wvalid FAIL
23 Stopwatch  Default Equals4 Running  NotRunning Adjust NotUse NotUse NotUse valid valid valid FAIL
24 Alarm Default Equals4 Running  NotRunning Mode NotUse wvalid = valid | valid valid MNotUse FAIL
25 Timer Set Equals4 NotRunning  Running  StartStop MotUse MNotUse NotUse walid valid valid FAIL
26 TimeKeeping Default Equals4 Running Running Reset MNotUse wvalid = walid valid valid walid FAIL
27 Worldtime  Default Equals4 Running Running Reset valid  valid  wvalid valid valid wvalid FAIL
28 TimeKeeping  Set Equals4 Running Running Mo MotUse wvalid = valid | valid valid wvalid FAIL
29 Cycletimer Set Equals4 NotRunning NotRunning StartStop MotUse MNotUse NotUse walid valid valid FAIL
30 Timer Set Equals4 MotRunning MNotRunning  Reset  MotUse MotUse NotUse wvalid valid valid FAIL
Ell Alarm Set Equals4 Running  NotRunning Reset MNotUse wvalid valid valid valid NotUse FAIL
Test Results
Total : 31
Pass : 0
Fail : 31
. - 00O
Rate:0/31=0%
4. Brute Force Testing Report
A. Test Case
Test Test Num Description P/F
=] = o SIS o =l
/AL 2 AR S 2ARME o ChSOf Lietof She gt
1-1 PASS
O] SHIEA HeE=7h?
) = o s = =L
L/E/A0l 2} AgtE 2ARE W CHS0f| Ltetof Sh=
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Timekeeping 0l BHIE2A H=71?
= = st A
1-3 ZAFA e LS HYT & Y=Ih FAIL
A/2/U/E/E =22 NEYS O3 CHA| A2 JtAS
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o OlwE LE7tOF St2t?
Worldtime 2-1 MEHEl MHAIZFS 71702 M AlZtO| BHY El=ot2 | FALL
=2 3 =) % o =
EIO|HE MEY © 2 FHAI/Z) UM Us S7t
3-1 PASS
Timer AZle 8% &0l g BE&=71
[ o o9
3-2 Eto|0 7|50] glojd 8% EO|{7} 22l=71? FAIL




/27 Z|tigo| =eE o AL o

o=
Stopwatch 4-1 FAIL
wE OEH HEE =7
5-1 243 © LYS 2 B 4 AN FAIL
YT YS OpA[2 LM O L HES FE= | FAL
Alarm 5-2
Z20| oEAH He|st=7t?
5-3 220l A2l 0|0 7|s0| SojA F2 LE0| S2|=717 | FAIL
Cycletimer 6-1 T 2|0 HAIF 22l=71? PASS
6712 715 d=s| 4702 7|8 MEiSIe E4st &
7-1 FAIL
= A=
oh OrZ|8t 2LE0|M CHE 2E2 T HEZ 23 oY
7-2 PASS
A Hz2[7F =0 UA=71?
Mode Setting
O 2E2 7= HES =3 OfA| 22 2E2 =012t
7-3 PASS
mf o|Mol &St HEIt FA= =71
O 2E2 7= HES =3 O3 ZEE AMEst Us
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B. Test Result

Test Test Num Expected Output Test Output
U2 ZF 2ol OpA[e ARtoN F
7t B2 142, €2 128€0M ol 4H0| 2astR| Lot g
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2018t AR 192, W2 9999 | AE EVts
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Ot HIAE E7ts
Ct
EfO| 7|=0] SIO{R|H EO|O7t | EfO|0 7|5 H[2E3t7t E7Hs
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Test Results
Total : 16
Pass . 7
Fail : 9
Rate:7/16=43.75%
5. Static Analysis
A. Quality Profile(Rules)
1. Findbugs
No Category
1 Bad practice
2 Correctness
3 Experimental
4 Internationalization
5 Malicious code vulnerability
6 Multithreaded coreectness
7 Performance
8 Security
9 Dodgy code
v Type
¥ Bug 464
& Vulnerability 125
@ Code Smell 279
> Tag

2. PMD

v Repository 3 SELECTED

| FindBugs Java 448 ]
FindBugs Contrib Java 305

| |

115 l

l Find Security Bugs Java

No ‘

Category




1 Best practice
2 Code Style
3 Documentation
4 Error phone
5 Multithreading
6 Performance
7 Security

v Type

& Code Smell 91

> Tag

v Repository 2 SELECTED
| PMD Java 76 |
| PMD Unit Tests Java 15 |

3. Checkstyles

No Category

1 Annotations
2 Block Checks
3 Class Design
4 Coding

5 Headers

6 Imports

7 Javadoc Comments
8 Metrics

9 Miscellaneous
10 Modifiers

11 Naming Conventions
12 Regexp

13 Size Violations
14 Whitespace




& Code Smell

> Tag

v Repository CHECKSTYLE

108

Clear

Checkstyle Java

109

4. Etc(SonarAnalyzer, Common Java)

v Type

¥¥ Bug

£ Vulnerability

& Code Smell

@ Security Hotspot

> Tag

v Repository 2SELECTED

121
39
321
34

Clear

‘ SonarAnalyzer Java

510]

| Common Java Java

5

= FindBugs, PMD, Checkstyles@} SonarAnalyzer, Common Javadi| CHst Z2&

4 Rulez0f CHal| ZtA|4Ql H4+E Sof Zekl= Rulesdt S25t2| it

d2t5k= Rules2 Al2lstl HESIAS

i B R

ii. Quiality Gate(Based on Jacoco, JUnit)

1. Condition Coverage

- JacocoOl A Junit® E3l 43El Condition Coverage?| Z2E 60% O|AF CHZS!

22 273%e

2. Line Coverage

- JacocoOA Junite Sl 2lAst 1H O

60% O|4 A=Y AS 275

0jo

3. Unit Test Success

- Junit HAE Zik= Z5% PASS E|0{0}

4. &g Ay

4 SHElE Line Coverage2| ZatE

¥ 218 275U



Conditions

Conditions on New Code

Metric Operator Value

Condition Coverage is less than 60.0%

Conditions on Overall Code

Metric Operator Value
Condition Coverage is less than 60.0%
Line Coverage is less than 60.0%
Unit Test Success (%) is less than 100%

iii. Static Analysis Result

1. Overview

¥ SMA_A7

Last analysis: June 17, 2020, 12:25 AM

142 @ 101 -0 576 () O 0.0% @ 22.0%
¥¥ Bugs B Vulnerabilities @ Hotspots Reviewed & Code Smells Coverage Duplications
2 (TP A0 S2& ZTEE Static Analysist 21 A&4=9] Bug,
Vulnerability, Code SmellO| 244
2 Unit Test Code?} Z2H3IA| 940tAM Overall Coverage?t 0% BH=
S ZSAY IC mpAU0| B2|FR| L0t Exclusion M2|7t E7ts

2. Bugs

(Java) Correctness - Method explicitly s... 65
(Java) Correctness - Method passes co... 35
(Java) Correctness - JLabel doesn't sp... 30
(Java) Performance - Unread field 8
(Java) "InterruptedException" should not... 1
(Java) Correctness - Constructor makes ... 1
(Java) Correctness - Window sets size m... 1

(Java) Loops should not be infinite 1
8 shown
S 8Jfo] E0| MEL|0 142702 Bugs HHA
3. Vulnerabilities
(Java) Member variable visibility shoul... 101

1 shown

> 179 20| HEL|0 101702] Vulnerability 244



4. Code Smells

(Java) Visibility Modifier 101

(Java) Comment the default access mo... 99

(Java) Default Package 99
(Java) Field names should comply with ... 43
(Java) Explicit Initialization 23

(Java) Fields should not be initialized to... 23

(Java) Redundant Field Initializer 23

47 shown Show Less

> 47719 0| HE%|0| 57672 Code Smells 24l

5. Coverage

Jenkins

Number: 18

Status : Failure &

Time : 2020-06-18 03:05:38

URL : hitp://ctip.sSkywalk3r.codes:3080/job/SMA_AT/18/

Test Summary :

* Log:

Scm

URL : hitps://github.com/kusvv/SMA_AT.git

Branch : origin/master

Commit: 748993c

Culprits : noreply

Changes:

= Junit Test caseZt H3IA| 2O} Line Coverage, Condition CoverageZt 25

0% 2=

Overall
Coverage 0.0%
Lines to Cover 663
Uncovered Lines 663
Line Coverage 0.0%
Conditions to Cover 228
Uncovered Conditions 228
Condition Coverage 0.0%

2 Main 222 S| 25 2227t AE=0f GUIO tiet 2E 243

2
Exclusionx2| & £ QU=



